
 

 

     0 x 4 = 0 

1 x 4 = 4    2 x 4 = 8 

3 x 4 = 12    4 x 4 = 16 

5 x 4 = 20    6 x 4 = 24 

7 x 4 = 28    8 x 4 = 32 

9 x 4 = 36    10 x 4 = 40  

11 x 4 = 44    12 x 4 = 48 

 

Top tips 

1. It is always double the 2 x times table, so double and double 

again.     e.g.   3 x 4   

Double 3 is 6.   Double 6 is 12.  

2. The answer is always even 

3. Some are easy answers you know already.  0 x 4,  10 x 4,      

2 x 4, 5 x 4, 11 x 4. 

4. The pattern in the ones is 0, 4, 8, 2, 0, 4, 8, 2 

5. The pattern in the tens is 1, 1, 2, 2, 2, 3, 3, 4, 4, 4 

 


